Y:=40 mm J:=10 kg-m”®

sp:=40 mm p:=6 mm 1:=0.9
YA::255 mm Ibl::]‘]‘A Mbl::2450 N'mm
54:=45 mm I, =027 A Nyper = 352.57 min "

Clea‘rsym <YB 7J7YA’SB73A7Ibl=Mbl’Ileervnleer’p777>

2 2

K:= \/<YB-COS(O) —spesin(0)+Y,) +(Yp-sin(0)+sp-cos(0)—s,) K=295.042 mm

2 2

m(t,go) 2:K—\/<YB-COS ((p(t))—sB-sin(go(t)) —YA> + <YB-Sin(cp(t))+sB-cos ((p(t))—sA>

1 d
n(t,go)::g-g:r(t,go)

(YB-COS (go (t)) —8pesin (go(t)) +YA> *84— (YB- sin ((p(t)) +sp-cos (c,o(t)) —sA> . <—YA>

h ) 2 2
\/(YB-cos(go(t))—sBosin(cp(t))+YA> +(Yp-sin(p(t))+sp-cos(p(t)) —s4)

M(t,go) ::—fbl -n(t,(p)-i—Mbl

Fa(top) =2 0 (8, )

Substitute, t) =0 Yo 0 + Y, 0)— " ot 0 +Y «Ya,-si
h(t,@0):=h(t,p) () =90 84-Yp-cos(p0) +8p-Y,+cos(p0) —84-p-sin(p0) + V- Yp-sin

\/(YA +Yg-cos (<p0) —Spesin (ch)) ’ + (SB *COS (<p0) —84+Ypg-sin (g

betitute (1) =00
substitute, ¢ (t) = e My« (2+ (¢1+Y g+ cos(40) —pl-spesin (¢

d ol dg e
substitute,—go(t):gol 2emmen e | My +
dt

2.my,
FA(tv(PO?QDl)::FA(tv(P) l

tend =1.2 s

T ()= Fa (b, (1) 0/ (8)) R (£, (1))

p(0s)=0"
(0 =0:
#'(0s)=0—

¢:=odesolve (p(t), tend)

Gleichungsldser NebenbedifSghagererte



t:=0 8,0.01 s..t

end

¢(1.2 s)=2.27-10"

1.4-105+
©(1.2 5)=(1.301-10°) deg
1.2.10°+
1-10°+
8:10°+
¢(t) ()
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